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TP 2 7,200 36x 2

MiFE— 38 136, 800 36x 38

MFE= 39 140, 400 36x 39

MNiE= 10 36, 000 36x 10

R~ 6 21, 600 36x 6

MERZ 36 129, 600 36x 36

ME= 36 129, 600 36x 36

MEZ 6 21, 600 36x 6

MO 6 21, 600 36x 6

MNO— b5 198, 000 36x bb

MNO= ] 25, 200 36x 7

3 65 234, 000 36x 65

p 35 126, 000 36x 35

2= 32 115, 200 36x 32
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— 3 10, 800 36x 3

RO 24 86, 400 36x 24

FO— 205 738, 000 36x205

2O 79 284, 400 36x 79
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BE— 1 3, 600 36x 1
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BOZ 3 10, 800 36x 3
<= 3 10, 800 36x 3
(= 3 10, 800 36x 3
<O 9 32, 400 36x 9
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O= 43 154, 800 36x 43
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RO 22 19, 200 36x 22
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